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NO. 0 0. 000 1.7 - - 0.0 - -
BC. 1(0+11. 992) 11.992 1.1 1. 40 16.8 0.2 0.10 1.2
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NO. 2 6.319 4.5 4.40 27.8 0.2 0.20 1.3
NO. 3 20. 000 3.3 3.90 78.0 0.2 0.20 4.0
NO. 4 20. 000 3.8 3.55 71.0 0.2 0.20 4.0
NO. 4+16. 320 16. 320 1.3 2.55 41.6 0.3 0.25 4.1
NO. 5 3. 680 1.1 1.20 4.4 0.2 0.25 0.9
NO. 6 20. 000 0.9 1.00 20.0 0.2 0.20 4.0
NO. 7 20. 000 1.2 1.05 21.0 0.2 0.20 4.0
NO. 8 20. 000 0.6 0.90 18.0 1.2 0.70 14.0
NO. 8+8. 500 8. 500 1.1 0.85 7.2 0.2 0.70 6.0
NO. 8+8. 500 0. 000 1.3 1.20 0.0 0.5 0.35 0.0
BC. 2(8+11. 270) 2.770 1.3 1.30 3.6 0.5 0. 50 1.4
NO. 8+16. 500 5.230 1.3 1.30 6.8 0.5 0. 50 2.6
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EC. 2(9+12. 090) 1.390 2.5 3.10 4.3 0.2 0.20 0.3
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SP. 4(11+17. 492) 11.013 2.5 2.25 24.8 0.5 0. 50 5.5
NO. 12 2.508 2.3 2.40 6.0 0.5 0. 50 1.3
EC. 4 (12+8. 504) 8.504 1.9 2.10 17.9 0.6 0. 55 4.7
NO. 12+19. 550 11. 046 1.9 1.90 21.0 0.6 0. 60 6.6
NO. 12+19. 550 0. 000 1.8 1.85 0.0 0.4 0. 50 0.0
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BC. 1(0+11. 992) 11.992 0.2 0.10 1.2
NO. 1 8. 008 0.2 0.20 1.6 .0 0. 00 0.0
SP. 1(1+2.837) 2.837 0.2 0.20 0.6 .3 0.15 0.4
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NO. 8+16. 500 5.230 0.5 0.50 2.6
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NO. 9 0.700 0.5 0. 50 0.4
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NO. 9+10. 700 9. 020 0.5 0.50 4.5
NO. 9+10. 700 0. 000 0.2 0. 35 0.0
EC. 2(9+12. 090) 1.390 0.2 0.20 0.3
NO. 10 7.910 0.2 0.20 1.6
BC. 3(10+3.917) 3. 917 0.2 0.20 0.8
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NO. 11 5.502 0.1 0.15 0.8
EC. 3(11+5.078) 5.078 0.2 0.15 0.8
EC. 3(11+5.078) 0. 000 0.5 0.35 0.0
BC. 4 (11+6. 479) 1.401 0.5 0. 50 0.7
SP. 4(11+17. 492) 11.013 0.5 0. 50 5.5
NO. 12 2.508 0.5 0. 50 1.3
EC. 4 (12+8. 504) 8.504 0.6 0. 55 4.7
NO. 12+19. 550 11. 046 0.6 0. 60 6.6
NO. 12+19. 550 0. 000 0.3 0.45 0.0
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NO. 0 0. 000 0. 00 - - -
BC. 1(0+11.992) 11. 992 0. 00 0. 00 0.0
NO. 1 8.008 0.01 0.01 0.1
SP. 1(1+2.837) 2.837 0. 00 0.01 0.0
EC. 1(1+13. 681) 10. 844 0. 02 0.01 0.1
NO. 2 6.319 0. 04 0.03 0.2
NO. 3 20. 000 0.03 0. 04 0.8
NO. 4 20. 000 0.03 0.03 0.6 0. 00 0. 00
NO. 4+16. 320 16. 320 0. 20 0.12 2.0 0. 02 0.01
NO. 5 3. 680 0. 00 0.10 0.4 0. 00 0.01
NO. 6 20. 000
NO. 7 20. 000 0. 00 0. 00 0.0
NO. 8 20. 000 0. 60 0.30 6.0 0. 00 0. 00 0.0 0. 00 0. 00
NO. 8+8. 500 8.500 0. 00 0.30 2.6 0. 08 0. 04 0.3 0.03 0. 02
NO. 8+8. 500 0.000 0. 08 0. 08 0.0 0.03 0.03
BC. 2(8+11. 270) 2. 770 0.08 0.08 0.2 0.03 0.03
NO. 8+16. 500 5. 230 0. 08 0. 08 0.4 0.03 0.03
NO. 8+16. 500 0.000 0. 08 0. 08 0.0 0. 00 0. 02
NO. 8+19. 300 2.800 0. 08 0. 08 0.2
NO. 8+19. 300 0.000 0. 08 0. 08 0.0
NO. 9 0.700 0.08 0.08 0.1
SP. 2(9+1. 680) 1. 680 0.07 0.08 0.1
NO. 9+10. 700 9. 020 0.07 0.07 0.6
NO. 9+10. 700 0.000 0.07 0.07 0.0
EC. 2(9+12. 090) 1.390 0.03 0.05 0.1
NO. 10 7.910 0.05 0.04 0.3
BC. 3(10+3.917) 3.917 0.05 0.05 0.2
SP. 3(10+14. 498) 10. 581 0.09 0.07 0.7
NO. 11 5. 502 0.06 0.08 0.4
EC. 3(11+5. 078) 5.078 0. 00 0.03 0.2
EC. 3(11+5.078) 0. 000
BC. 4(11+6. 479) 1. 401
SP. 4(11+17. 492) 11.013
NO. 12 2.508
EC. 4(12+8.504) 8. 504
NO. 12+19. 550 11. 046
NO. 12+19. 550 0.000
NO. 13 0. 450
NO. 13+10. 000 10. 000
NO. 14 10. 000
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NO. 0 0. .00 - 0. 00
BC. 1(0+11.992) 11 . 00 . 00 0.0 0. 02 0.01
NO. 1 8. .06 .03 0.2 0. 00 0.01
SP. 1(1+2. 837) 2. .20 .13 0.4
EC. 1(1+13. 681) 10. . 20 . 20 2.2
NO. 2 6. .20 .20 1.3
NO. 3 20 .20 .20 4.0
NO. 4 20. .20 .20 4.0
NO. 4+16. 320 16. .00 .10 1.6 0. 00 .00
NO. 5 3. .07 .04 0.1 0.03 .02
NO. 6 20. .20 14 2.8 0. 09 . 06
NO. 7 20. .20 .20 4.0 0.05 .07
NO. 8 20. .00 .10 2.0 0. 08 .07
NO. 8+8. 500 8. .20 .10 0.9 0. 02 .05
NO. 8+8. 500 0. .20 .20 0.0 0. 02 .02
BC. 2(8+11. 270) 2. . 20 . 20 0.6 0. 02 .02
NO. 8+16. 500 5. .20 .20 1.0 0. 02 .02
NO. 8+16. 500 0. .30 .25 0.0 0. 00 .01
NO. 8+19. 300 2. .30 .30 0.8
NO. 8+19. 300 0. .20 .25 0.0
NO. 9 0. .20 .20 0.1
SP. 2(9+1. 680) L. .20 .20 0.3
NO. 9+10. 700 9. .20 .20 1.8
NO. 9+10. 700 0. .20 .20 0.0
EC. 2(9+12. 090) L. .20 .20 0.3
NO. 10 7. .20 .20 1.6
BC. 3(10+3.917) 3. . 20 . 20 0.8 0. 00 .00
SP. 3(10+14. 498) 10. . 20 . 20 2.1 0.04 .02
NO. 11 5. .20 .20 1.1 0.05 .05
EC. 3(11+5. 078) 5. . 20 . 20 1.0 0. 00 .03
EC. 3(11+5.078) 0. .20 .20 0.0
BC. 4(11+6. 479) 1. .20 .20 0.3
SP. 4(11+17. 492) 11 .20 .20 2.2
NO. 12 2. .20 .20 0.5
EC. 4(12+8.504) 8. .00 .10 0.9
NO. 12+19. 550 11 .00 .00 0.0
NO. 12+19. 550 0. .20 .10 0.0
NO. 13 0. .20 .20 0.1
NO. 13+10. 000 10. .20 .20 2.0
NO. 14 10. .00 .10 1.0
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NO. 0 0. 000 0.0 - - 0.0 - -
BC. 1(0+11. 992) 11.992 0.0 0.00 0.0 0.0 0. 00 0.0
NO. 1 8. 008 0.5 0.25 2.0 0.5 0.25 2.0
SP. 1(1+2.837) 2.837 0.1 0. 30 0.9 1.2 0.85 2.4
EC. 1(1+13. 681) 10. 844 0.8 0.45 4.9 1.2 1. 20 13.0
NO. 2 6.319 1.1 0.95 6.0 1.2 1. 20 7.6
NO. 3 20. 000 1.6 1.35 27.0 1.2 1. 20 24.0
NO. 4 20. 000 1.7 1. 65 33.0 1.2 1. 20 24.0
NO. 4+16. 320 16. 320 0.0 0.85 13.9 0.0 0. 60 9.8
NO. 5 3. 680 0.3 0.15 0.6
NO. 6 20. 000 0.6 0. 45 9.0
NO. 7 20. 000 0.7 0. 65 13.0
NO. 8 20. 000 0.2 0. 45 9.0
NO. 8+8. 500 8. 500 1.1 0. 65 5.5
NO. 8+8. 500 0. 000 0.6 0.85 0.0
BC. 2(8+11. 270) 2.770 0.6 0. 60 1.7
NO. 8+16. 500 5.230 0.6 0. 60 3.1
NO. 8+16. 500 0. 000 0.4 0. 50 0.0
NO. 8+19. 300 2. 800 0.0 0.00 0.0 0.4 0. 40 1.1
NO. 8+19. 300 0. 000 0.8 0.40 0.0 0.9 0. 65 0.0
NO. 9 0.700 0.8 0. 80 0.6 0.9 0.90 0.6
SP. 2(9+1. 680) 1. 680 0.9 0.85 1.4 0.9 0.90 1.5
NO. 9+10. 700 9. 020 0.9 0.90 8.1 0.9 0.90 8.1
NO. 9+10. 700 0. 000 1.5 1.20 0.0 0.9 0.90 0.0
EC. 2(9+12. 090) 1.390 0.4 0.95 1.3 0.8 0. 85 1.2
NO. 10 7.910 0.4 0. 40 3.2 0.7 0.75 5.9
BC. 3(10+3.917) 3. 917 0.1 0.25 1.0 0.8 0.75 2.9
SP. 3(10+14. 498) 10. 581 0.0 0. 05 0.5 0.7 0.75 7.9
NO. 11 5.502 0.0 0.00 0.0 0.7 0.70 3.9
EC. 3(11+5.078) 5.078 0.5 0.25 1.3 0.8 0.75 3.8
EC. 3(11+5.078) 0. 000 0.0 0.25 0.0 0.8 0. 80 0.0
BC. 4 (11+6. 479) 1.401 0.0 0.00 0.0 0.8 0. 80 1.1
SP. 4(11+17. 492) 11.013 0.8 0. 80 8.8
NO. 12 2.508 0.8 0. 80 2.0
EC. 4 (12+8. 504) 8.504 0.0 0. 40 3.4
NO. 12+19. 550 11. 046 0.0 0. 00 0.0
NO. 12+19. 550 0. 000 0.9 0. 45 0.0
NO. 13 0. 450 0.9 0.90 0.4
NO. 13+10. 000 10. 000 0.9 0.90 9.0
NO. 14 10. 000 0.0 0. 45 4.5
N i 280. 000 105. 1 190. 8
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3l = 5 e R (811) (L) EmER 1) (R) EmER (L) (L)
) E S| HHRS | E HM|E S| FHRES | E M| E S| EHRS | E M
m m m m2 m m m2 m m m2
NO. 14 0. 000
IP. 5(14+0. 692) 0. 692
/I &t 0. 692
= B 280. 692 105. 1 190.8
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i) F KPR
il o B e EEHEE (L) (R)
E S| EHEE | E M| R S | EHEES | E M S | EHES | E M
m m m m2 m m m2 m2

NO. 0 0. 000
BC. 1(0+11.992) 11.992
NO. 1 8.008
SP. 1(1+2. 837) 2.837
EC. 1(1+13. 681) 10. 844
NO. 2 6.319 0.0 0. 00 0.0
NO. 3 20. 000 0.4 0. 20 4.0
NO. 4 20. 000 0.0 0. 20 4.0
NO. 4+16. 320 16. 320 0.0 0. 00 0.0
NO. 5 3. 680 0.1 0. 05 0.2
NO. 6 20. 000 0.1 0.10 2.0
NO. 7 20. 000 0.1 0.10 2.0
NO. 8 20. 000 0.2 0.15 3.0
NO. 8+8. 500 8.500 0.3 0.25 2.1
NO. 8+8. 500 0.000 0.3 0.30 0.0
BC. 2(8+11. 270) 2. 770 0.3 0.30 0.8
NO. 8+16. 500 5. 230 0.3 0.30 1.6
NO. 8+16. 500 0.000 0.2 0.25 0.0
NO. 8+19. 300 2.800 0.2 0. 20 0.6
NO. 8+19. 300 0.000 0.2 0. 20 0.0
NO. 9 0.700 0.2 0.20 0.1
SP. 2(9+1. 680) 1. 680 0.2 0.20 0.3
NO. 9+10. 700 9. 020 0.2 0.20 1.8
NO. 9+10. 700 0.000 0.2 0.20 0.0
EC. 2(9+12. 090) 1.390 0.1 0.15 0.2
NO. 10 7.910 0.2 0.15 1.2
BC. 3(10+3.917) 3.917 0.1 0.15 0.6
SP. 3(10+14. 498) 10. 581 0.1 0.10 1.1
NO. 11 5. 502 0.2 0.15 0.8
EC. 3(11+5. 078) 5.078 0.4 0.30 1.5
EC. 3(11+5. 078) 0. 000 0.4 0. 40 0.0
BC. 4 (11+6. 479) 1. 401 0.4 0. 40 0.6
SP. 4 (11+17. 492) 11.013 0.4 0. 40 4.4
NO. 12 2.508 0.6 0.50 1.3
EC. 4(12+8. 504) 8.504 0.2 0. 40 3.4
NO. 12+19. 550 11. 046 0.2 0.20 2.2
NO. 12+19. 550 0.000 0.0 0.10 0.0
NO. 13 0. 450 0.0 0.00 0.0
NO. 13+10. 000 10. 000 0.0 0. 00 0.0
NO. 14 10. 000 0.1 0.05 0.5

N F 280. 000 40.3
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WA | m o | FEEPED ®)
B3 S| EHES | E M| E S| EHES | E M| E S | FHES
m m m m2 m m m2 m m

NO. 14 0. 000 0.1 - -
IP. 5 (14+0. 692) 0. 692 0.0 0.05 0.0

/I &t 0. 692 0.0

= 7 280. 692 40.3
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S| RS | E M| E S| RS | E b S| RS | R b3t
m m m m2 m m m2 m2

NO. 0 0. 000 5. 20 = =
BC. 1(0+11.992) 11.992 .90 5. 550 66. 56
NO. 1 8. 008 .90 4. 900 39. 24
SP. 1(1+2. 837) 2. 837 .90 4. 900 13. 90
EC. 1(1+13.681) 10. 844 .90 4. 900 53. 14
NO. 2 6.319 .90 4. 900 30. 96
NO. 3 20. 000 .90 4. 900 98. 00
NO. 4 20. 000 .90 4. 900 98. 00
NO. 4+16. 320 16. 320 .85 4. 875 79. 56
NO. 5 3. 680 .90 4,875 17.94
NO. 6 20. 000 .90 4.900 98. 00
NO. 7 20. 000 .90 4.900 98. 00
NO. 8 20. 000 .95 4.925 98. 50
NO. 8+8. 500 8. 500 .90 5. 425 46. 11
NO. 8+8. 500 0. 000 .90 5.900 0. 00
BC. 2 (8+11.270) 2.770 .90 5.900 16. 34
NO. 8+16. 500 5.230 .90 5.900 30. 86
NO. 8+16. 500 0. 000 . 88 6. 390 0. 00
NO. 8+19. 300 2. 800 . 88 6. 880 19. 26
NO. 8+19. 300 0. 000 . 88 6. 880 0. 00
NO. 9 0. 700 . 88 6. 880 4. 82
SP. 2(9+1. 680) 1. 680 .90 6. 890 11.58
NO. 9+10. 700 9. 020 .90 6. 900 62. 24
NO. 9+10. 700 0. 000 .90 6. 900 0. 00
EC. 2(9+12. 090) 1. 390 .90 6. 400 8. 90
NO. 10 7.910 .90 5. 400 42.71
BC. 3(10+3.917) 3.917 .90 4. 900 19. 19
SP. 3(10+14. 498) 10. 581 .90 4. 900 51.85
NO. 11 5.502 .90 4. 900 26. 96
EC. 3(11+5.078) 5.078 .90 4. 900 24. 88
EC. 3(11+5.078) 0. 000 .90 4. 900 0. 00
BC. 4 (11+6. 479) 1.401 .90 4. 900 6. 86
SP. 4(11+17. 492) 11.013 .90 4. 900 53. 96
NO. 12 2.508 .90 4. 900 12.29
EC. 4(12+8. 504) 8.504 .90 4. 900 41. 67
NO. 12+19. 550 11. 046 .90 4. 900 54.13
NO. 12+19. 550 0. 000 .90 4. 900 0. 00
NO. 13 0. 450 .90 4. 900 2.21
NO. 13+10. 000 10. 000 .90 4.900 49. 00
NO. 14 10. 000

4N B 280. 000 1377. 62
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B3 S| EHES | E M| E S| EHES | E M| E S | EBHES
m m m m2 m m m2 m m
NO. 14 0. 000
IP. 5(14+0. 692) 0. 692
/I &t 0. 692
= g 280. 692 1,377.62
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E S| EHEES | E M S | EHEES | E M S | EHES | E M
m m m m2 m m m2 m2

NO. 0 0. 000
BC. 1(0+11.992) 11.992
NO. 1 8.008
SP. 1(1+2. 837) 2.837
EC. 1(1+13. 681) 10. 844
NO. 2 6.319
NO. 3 20. 000
NO. 4 20. 000
NO. 4+16. 320 16. 320
NO. 5 3. 680
NO. 6 20. 000
NO. 7 20. 000
NO. 8 20. 000
NO. 8+8. 500 8.500
NO. 8+8. 500 0.000
BC. 2(8+11. 270) 2. 770
NO. 8+16. 500 5. 230 0. 00 0. 000 0. 00 0. 00 0. 000 0. 00
NO. 8+16. 500 0.000 0.53 0. 265 0. 00 0.55 0.275 0. 00
NO. 8+19. 300 2.800 0.53 0.530 1.48 0.55 0. 550 1.54
NO. 8+19. 300 0.000 0. 00 0. 265 0. 00 0. 00 0.275 0. 00
NO. 9 0.700
SP. 2(9+1. 680) 1. 680
NO. 9+10. 700 9. 020
NO. 9+10. 700 0.000
EC. 2(9+12. 090) 1. 390
NO. 10 7.910
BC. 3(10+3.917) 3.917
SP. 3(10+14. 498) 10. 581
NO. 11 5. 502
EC. 3(11+5.078) 5.078
EC. 3(11+5.078) 0. 000
BC. 4(11+6. 479) 1. 401
SP. 4(11+17. 492) 11.013
NO. 12 2.508
EC. 4(12+8.504) 8. 504
NO. 12+19. 550 11. 046
NO. 12+19. 550 0.000
NO. 13 0. 450
NO. 13+10. 000 10. 000
NO. 14 10. 000

N F 280. 000 1.48 1.54
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B3 S| PHES | HE | E S | EHES | FE " | & S | EBHES
m m m m2 m m m2 m
NO. 14 0. 000
IP. 5(14+0. 692) 0. 692
/I &t 0. 692
= B 280. 692 1.48 1.54
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sl 5 W AstliZefit: Coffi%étit:
S| EHRs | F M| E S| HHRs | F M S| HHRs | F M
m m m m2 m m m2 m2

NO. 0 0. 000 5. 45 - -
BC. 1(0+11. 992) 11.992 5. 53 6.490 77.83
NO. 1 8. 008 5. 67 6. 600 52.85
SP. 1(1+2.837) 2.837 5. 60 6. 635 18.82
EC. 1(1+13. 681) 10. 844 . 66 5.630 61.05
NO. 2 6.319 .31 4.485 28.34
NO. 3 20. 000 3.49 3. 900 78. 00
NO. 4 20. 000 3.35 3. 420 68. 40
NO. 4+16. 320 16. 320 3.15 3. 250 53. 04
NO. 5 3. 680 .15 3. 150 11.59
NO. 6 20. 000 .75 2. 950 59. 00
NO. 7 20. 000 . 60 2.675 53. 50
NO. 8 20. 000 . 63 2.615 52. 30
NO. 8+8. 500 8. 500 .35 2. 490 21.17
NO. 8+8. 500 0. 000 .35 2. 350 0.00
BC. 2(8+11. 270) 2.770 .35 2. 350 6.51
NO. 8+16. 500 5.230 .35 2. 350 12.29
NO. 8+16. 500 0. 000 . 60 2.475 0.00
NO. 8+19. 300 2. 800 . 60 2. 600 7.28
NO. 8+19. 300 0. 000 . 60 2. 600 0.00
NO. 9 0.700 . 60 2. 600 1.82
SP. 2(9+1. 680) 1. 680 .75 2.675 4. 49
NO. 9+10. 700 9. 020 .75 2.750 24.81
NO. 9+10. 700 0. 000 .75 2.750 0.00
EC. 2(9+12. 090) 1.390 .22 2. 985 4.15
NO. 10 7.910 .65 3.435 27.17
BC. 3(10+3.917) 3. 917 .55 3. 600 14.10
SP. 3(10+14. 498) 10. 581 .05 3.800 40. 21
NO. 11 5.502 . 30 4.175 22.97
EC. 3(11+5.078) 5.078 .10 4. 200 21.33
EC. 3(11+5.078) 0. 000 .10 4.100 0.00
BC. 4 (11+6. 479) 1.401 .67 3.885 5.44
SP. 4(11+17. 492) 11.013 .03 3. 350 36. 89
NO. 12 2.508 .18 3.105 7.79
EC. 4 (12+8. 504) 8.504 .45 3.315 28.19
NO. 12+19. 550 11. 046 .45 3.450 38. 11
NO. 12+19. 550 0. 000 .25 3. 350 0.00
NO. 13 0. 450 .25 3. 250 1. 46
NO. 13+10. 000 10. 000 .08 3. 665 36. 65
NO. 14 10. 000

N i 280. 000 977.55
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At il
0l A e AsHii 3l Coli 4t
m m m m2 m m m2 m
NO. 14 0. 000
IP. 5(14+0. 692) 0. 692
/)N &t 0. 692 0. 00
= 280. 692 977. 55
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o] P DL 8 7
il o F—7 ARH RYE (L) RHE (R)
L R CERWrEAT| S2 BT O|Wr om0 B CERAWTERT| N2 B O|Wr om0 B CEHWNEmRT| 2 B
m m2 m2 m3 m2 m2 m3 m2 m2 m3
TP. 5(14+0. 692) 0. 000 .3 - - - -
NO. 14+10. 000 9. 308 5 1. 90 17.7 0.0 0. 00 0.0
NO. 15 10. 000 5 1. 50 15.0 0.2 0.10 1.0
IP. 6 (15+4. 134) 4.134 5 1. 50 6.2 0.2 0.20 0.8 0.0 0. 00 0.0
TP. 7(15+9. 172) 5. 038 2 2.35 11.8 0.2 0.20 1.0 0.2 0. 10 0.5
IP. 8 (15+16. 470) 7.298 0 1. 60 11.7 0.0 0.10 0.7 0.0 0.10 0.7
& 8 35. 778 62. 4 3.5 1.2
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i B H|EEGEH L) (L) HEGEH L) (R) KLHE
Wro o RE| EHWrmAE) Sz B | W om RE| PR | 52 LT TR = [T VAR
m m2 m2 m3 m2 m2 m2 m2 m3

TP. 5(14+0. 692) 0. 000 - -
NO. 14+10. 000 9. 308 0.0 0. 00 0.0 0.0 0. 00 0.0
NO. 15 10. 000 0.2 0. 10 1.0 0.3 0.15 1.5
IP. 6 (15+4. 134) 4.134 0.2 0. 20 0.8 0.0 0. 00 0.3 0. 30 1.2
TP. 7(15+9. 172) 5.038 0.2 0. 20 1.0 0.1 0. 05 0.0 0.15 0.8
IP. 8 (15+16. 470) 7.298 0.0 0. 10 0.7 0.0 0. 05

& 8 35. 778 3.5 0.7 3.5
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WA | B BRI - B (A - WA RE 1-
W m B MR r B (BT @ B PEMER B |BF @ B PRl
m m2 m2 m3 m2 m2 m3 m2 m2
IP. 5(14+0. 692) 0. 000 0.00 - - 0.00 -
NO. 14+10. 000 9. 308 0.10 0. 05 0.5 0. 05 0.03
NO. 15 10. 000 0.90 0. 50 5.0 0. 05 0. 05
IP. 6 (15+4. 134) 4.134 0.90 0.90 3.7 0.10 0. 08
IP. 7(15+9. 172) 5.038 0.00 0. 45 2.3 0.00 0. 05
1P. 8(15+16. 470) 7.298 0. 00 0. 00
& 3 35.778 11.5
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Wro o BE|CTHWrmEAE| Sz FE | WP od A | CTPMTEAE| ST BE (WP om B CFEIIWIER
m m2 m2 m3 m2 m2 m3 m2 m2
IP. 5 (14+0. 692) 0. 000
NO. 14+10. 000 9. 308 0. 00 0. 00 0.0
NO. 15 10. 000 0. 20 0.10 1.0
IP. 6 (15+4. 134) 4.134 0. 20 0.20 0.8
IP. 7(15+9. 172) 5. 038 0. 00 0.10 0.5
1P. 8 (15+16. 470) 7.298
& 8 35. 778 2.3
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E S| MHES | F B E S| BRSO M| E & | PHES | F O
m m m m2 m m m2 m m m2

TP. 5(14+0. 692) 0. 000
NO. 14+10. 000 9. 308 0.0 0. 00 0.0
NO. 15 10. 000 0.2 0. 10 1.0
IP. 6 (15+4. 134) 4.134 0.2 0. 20 0.8 0.0 0. 00 0.0
TP. 7(15+9. 172) 5.038 0.1 0.15 0.8 0.4 0.20 1.0
IP. 8 (15+16. 470) 7.298 0.0 0. 05 0.4 0.0 0.20 1.5

& F 35. 778 3.0 2.5
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E x| EwES | ¥ S| EHRE | O S| EHRE | ¥ M
m m m m2 m m2 m m2
IP. 5(14+0. 692) 0. 000 0.0 - -
NO. 14+10. 000 9.308 1.2 0. 60 5.6
NO. 15 10. 000 1.0 1.10 11.0
IP. 6 (15+4. 134) 4. 134 1.0 1.00 4.1
IP. 7(15+9. 172) 5.038 0.9 0.95 4.8
IP. 8(15+16. 470) 7.298 0.0 0. 45 3.3
= 35. 778 28. 8
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W RO EE £ & | THES | ¥ M| kB & TBES | ¥ m| B & | THES | ¥ W
m m m m2 m m m2 m m m2

IP. 5(14+0. 692) 0. 000 - -

NO. 14+10. 000 9. 308 4.76 4. 760 44, 31
NO. 15 10. 000 4. 90 4. 830 48. 30
IP. 6 (15+4. 134) 4.134 4. 90 4. 900 20. 26
IP. 7(15+9. 172) 5. 038 4. 65 4. 775 24. 06
IP. 8 (15+16. 470) 7.298 0. 00 2.325 16. 97

o>
i

i 35. 778 153. 90
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NE R S| FERS | R M S| CRERS | R M
m m m m2 m m m2 m m2

IP. 5(14+0. 692) 0.000 - - - -
NO. 14+10. 000 9.308 .25 4. 250 39. 56 4.25 4. 250 39. 56
NO. 15 10. 000 .68 3. 965 39. 65 3. 68 3.965 39. 65
1P. 6 (15+4. 134) 4.134 .68 3. 680 15.21 3.68 3. 680 15.21
IP. 7(15+9. 172) 5.038 .17 3.725 18.77 4.65 4.165 20.98
1P. 8(15+16. 470) 7.298 .00 1. 885 13.76 0.00 2.325 16. 97

= 35.778 126. 95 132. 37
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Wro o BE|CEIOWTEAL) S BE (BT oM R | CPAMmEAE| S B (W om B CPRWTE R
m m2 m2 m3 m2 m2 m3 m2 m2
NO. 0+2. 960 0. 000 2.2 - - 0.1 - -
NO. 0+5. 000 2.040 2.2 2.20 4.5 0.1 0.10 0.2
NO. 0+10. 000 5.000 1.6 1. 90 9.5 0.1 0.10 0.5
NO. 0+20. 000 10. 000 0.8 1.20 12.0 0.0 0. 05 0.5

= 7 17. 040 26.0 1.2
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Wromo RE|CEWIERE| S BE OB om AR CPAMrmAE| S (W m BE CPWmRE| 2 B
m m2 m2 m3 m2 m2 m3 m2 m2 m3
NO. 0+2. 960 0. 000 0.1 - -
NO. 0+5. 000 2. 040 0.1 0. 10 0.2
NO. 0+10. 000 5. 000 0.1 0. 10 0.5
NO. 0+20. 000 10. 000 0.0 0. 05 0.5
& § 17. 040 1.2
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Wromo RE|CEWIERE| S BE OB om AR CPAMrmAE| S (W m BE CPWmRE| 2 B
m m2 m2 m3 m2 m2 m3 m2 m2 m3

NO. 0+2. 960 0. 000

NO. 0+5. 000 2. 040
NO. 0+10. 000 5. 000 0. 00 0. 00 0.0
NO. 0+20. 000 10. 000 0.03 0. 02 0.2
& § 17. 040 0.2
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il e B EEEE (B 1) (L) HiEEE 1) (R) HimEIE ) (L)
B S| RS | E OB | E S| EHRS | E M| E S| BRI | E M
m m m m2 m m m2 m m m2

NO. 0+2. 960 0. 000 1.8 - -
NO. 0+5. 000 2. 040 1.8 1.80 3.7
NO. 0+10. 000 5. 000 0.6 1.20 6.0 0.0 0. 00 0.0
NO. 0+20. 000 10. 000 0.0 0. 30 3.0 0.1 0. 05 0.5

& F 17. 040 12.7 0.5
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. L EEHEE (L) (R)
il BB B e
E S| PEHES | E OB E & | EHES | CE & | EHES | CE
m m m m2 m m m2 m2
NO. 0+2. 960 0. 000
NO. 0+5. 000 2. 040
NO. 0+10. 000 5. 000 0.0 0. 00 0.0
NO. 0+20. 000 10. 000 0.2 0.10 1.0
& 17. 040 1.0
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B AHE B
. . #E AR
il Py B "
S| MRS | £ M s EHES | £ M s | EHES | £ M
m m m m2 m m m2 m2
NO. 0+2. 960 0. 000 2. 60 - - 2.90 - -
NO. 0+5. 000 2. 040 2. 60 2. 600 5. 30 2.90 2.900 5.92
NO. 0+10. 000 5. 000 2. 60 2. 600 13. 00 2.90 2.900 14. 50
NO. 0+20. 000 10. 000 2. 60 2. 600 26. 00 2. 85 2. 875 28.75
& g 17. 040 44. 30 49. 17
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